20

20Km
2011 6 2 10 00 2011 2 10 00
filt
B it il
B
() b c=b-a
O) HSv ) pISv - pISv
30k 23 48 170
31 2011/3/23 11:43 2011/5/31 11:.04 15570 2011/6/1 10:52 15740
30k 23 48 (7.1 paSv/hour)
31k 23 58 390
32 2011/3/23 12:14 2011/5/31 10:38 36090 2011/6/1 10:36 36480
31k 23 58 (16.3 paSv/hour)
33k 23 38 220
33 2011/3/23 12:32 2011/5/31 10:12 20440 2011/6/1 9:50 20660
(33k 23 38 (9.3 paSv/hour)
30k 2011/3/23 13:08 2011/4/24 12:03 4486 - 7606 -
34 o3
30k 2011/4/26 15:42 2011/5/31 12:47 3037 2011/6/1 11:35 3120 22 48
22 48 (3.6 paSv/hour)
29k 21 04 160
79 2011/3/23 14:09 2011/5/31 13:59 17730 2011/6/1 11.03 17890
29k 21 04 (7.6 paSv/hour)
14
1 62k 2011/3/24 15:20 2011/5/31 8:35 1260 2011/6/1 8:30 1274 23 55
62k 23 55 (0.6 paSv/hour)
7
84 39km 2011/3/25 10:40 2011/5/30 10:09 262 2011/6/1 9:35 269 47 26
39km 47 26 (0.1 paSv/hour)
22km 23 49 8
76 2011/4/2 11:35 2011/5/31 11:45 575 2011/6/1 11:34 583
22km 23 49 (0.3 paSv/hour)
32km 23 56 67
21 2011/4/8 13:18 2011/5/31 12:09 3937 2011/6/1 12:05 4004
32km 23 56 (2.8 paSv/hour)
il il ifi c/z
c/z
3126 45 24 20km 2011 4 10 22 1-2
3 12 6 4 5 24 1 2011 4 10 22 1-2

(http://www.nsc.go.jp/anzen/shidai/genan2011/genan022/siryol-2.pdf)
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